Ne ApTHUKYI HamMeHOBaHME Kon
1 Tarika M8 4
2 |KC55-10 llapHUP 1
3 Tarika M8 2
4 |KC26-04A Tsara 6
5 Tarika M8 2
6 llarba 8x22x2 5
7 |KC30-05A [InmacTuHAa 1
8 Bosr M8x55 3
9 Bonr M6x16 6
10 |KC30A-04A Koxyx peMHs 1
11 |KC30A-07 OrpaHMuUMTEJIb PEMHI 1
12 Bosr M8x20 1
13 |KC42A-03 IDedbiexTop B cbope 4
14 |KC55-24 Jlonarka 1
15 |KC55-15 llarBa 1
16 |KC26-11 ApanTep 1
17 |KC26-14 llecTepHa dYepBAYHAaA 1
18 |KC26-12 Ban 1
19 |KC26-15 Apjanrep 1
20 MrudT 3x18 1
21 |KC26-13 Konbuo znedsiexTopa 1
22 |KC26-10 KpoHWTENH 2
23 llamba 1
24 Byt M6x16 1
25 |KC55-23 duxcaTop mediexTopa 5
26 |4LXP945 Pemenr 4LXP945 4
27 |KC30A-08 [IpoxkJjlamka 2

MomeJsb

CHeroyb6opumk 6GeHBMHOBEI ST1176LE

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




O O

]

@‘EG)@ @) @ @ @) @ @

@

ApPTHUKYZ

HamMeHOBaHME

=
o)
=

KC30-03A-01R

Pyuka npamas

KC30-03-02

[laHeJsib yHpaBJIeHUA

T'alixka M8

larba 8x22x2

KC30-03-03A

KpOHIITENH OPYXUHE

BonT M8x40

KCM24-03C

Tpocuk

Bonr M8x35

MnamueaT 1.5x25

KC30-03-09

Poiuar xoma

T'arixka M10

KC30-03-2 (M4)

PykoAaTka pes3mHOBadA

KC30-03-11GGP

Priuar ynpaBJjieHUA

KC55-03-15 llarba pe3MHOBAsA
KC55-03-17 [pyxnHa
KC30-03-12A Prluar npasBblt

Manba 8

Boar M8x150
KC55-03-12 Cronop
KC55-03-23 BaxuMm
KC55-03-25A TonkaTelb
KC55-03-13A TonkaTelb
KC55-03-11 IpyxnHa

GB/T 70.1-1985

BuHT M8x60

GB/T 12618-1990

BakJjenka 4x10

KC90-04-04A

PykodTka C HOOOTPEeBOM

KC30-03-13A

Prluar JIeBHIM

RIRRI RN YR NN O ENY NSNS NN [\ [YSIY (I iy (g (I Vg VP YRR YR
—|S|olo|a|laals|w Nle ool alolo|slwlv| kol @ || g Wi E

RPIERINIEPEINEPEINSERPRRERIRERIRINEPEIREREINEPINDNEINDINDERESIDNDDNDSINDNDNDOORIRE

KC55-03-05-6 Brynka
KC30-03-14 IIpoBoOxn
HY64 BeIkJIIOUaATEJIb
KC30A-05-4 Tpoc ko3mpka IediexTopa
32 |KCD26-06-2 IpyxmnHa
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST1176LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 2




O O

]

Ne ApTHUKYI HamMeHOBaHME Koxn
33 BuHT M5x35 2
34 |KC30-03-08 Priuar BkJI. nubdbepenHumasna 1
35 Tarika M6 1
36 llarBa 6 1
37 BoarT 1
38 |KC30-03-05 KpoHWTEeVH pHYaTra 1
39 |KC30-02-06A Tpocuk nubbepeHlMaa 1
40 |KCA34-03-02 Pyuka 1
41 |KC30-03A-01L Pyuka JieBas 1
42 |KC30-03-22A [lpuBon zmediexTopa 2
43 BuHT M6x10 2
44 Mlavba 6 2
45 |KC30-03-24 [laHesb 1
46 Boyr M6x16 2
47 |KC30-03-26 Kpeimka 1
48 T'arika M6 2
49 |KC21-03-15 donapp LED 1
50 Byt ST3.5x16-F 2
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST1176LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 3




ApTHUKYI

HamMeHOBaHME

=
o)
=

Bonr M10x25

KC90-02-21A

Pyuka

KC55-02-25A

[lmacTMHa PY4YKMU

Bonr M10x45

BonT M6x12

KC55-02-40

Ban

KC30A-02-28

Kprika

BonT M6x20

KCM24-02C-19

KpoHWTEMH poJMka

BonT M6x12

KC21-02-2 Brynka

KC21-02C-01 Tpocuk

KC40-28 Ponuk
T'arika M6

KC30A-02-02

Bosgr M8x20

IleTanes coeguMHMUTEJIbHAA

Bosar M8x40

KC21-02C-03

OcHOBaHME IOBMUI'ATENS

T'arika M8
LC185FDS IeurarTesyib Loncin LC185FDS
3LXP870 PemeHnr 3LXP870
KC30A-02-03 MxuB
KC90-02-16 MxuB

llamiba 8
6561-03-18 Bosr M8x30

KC30A-02-04A

Kopnyc TpaHcMmMCCHUU

Boar M6x20

WINNNONIN NN NN N R R R R R R R e e e
Slo|lo|alaa|s|lwlNle|lolololadlo|o|e|w ok|o]@@ |0 e w N E

KC30-02-12 HakoOHEUHUK
KC90-02-07 BTynka IJacTUKOBAsS
KC55-02-05 Tara

RPINEFEINRPIRPRRPRPRPRRPRPRPRPIRERSBEIS DR IRPRPIRPRIRIRERIDSBEPEIRIERPINDDSIDNDDNDEIDN

MomeJsb

CHeroyb6opumk 6GeHBMHOBEI ST1176LE

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 4




'’

(]

ic 7

i

=y
Ny

i, il

Ne ApTHUKYI HamMeHOBaHME Koxn
31 Bonr M6x16 13
32 |KC30A-02-05 Kopnyc nommmMrnHUKAa 2
33 16200 Homumnuuk 6200 4
34 Kosmbuo cromnopHoe 25 1
35 |KC21-02-13 [MooUMIIHUK 1
36 |KC30A-02-06 Brynxka 15x20x15 1
37 |KC21-02-12B HepxaTelsb IMUCKa OQPUKIL. 1
38 |KC30A-02-07 llecTepHs 1
39 |KC21-02-11A IVCcK QPUKLMOHHEIM 1
40 |KC30A-02-08 Brynxka 15x20x15 1
41 |KC55-29 Cronop 1
42 |KC30A-02-9 Basn mecTuIpPaHHEM 1
43 |KC30A-02-10-2 Ban npoMexyTOYHEBI 1
44 |KC30A-02-10-1 3Be3ngouka OoJblias 1
45 |KC30A-02-11 3Be3pouka Majlasg 1
46 |KC30A-02-12 Brynka 12x15x8 1
47 1085-32 IDens 085-32 1
48 |16X4.80-8 Moxpremka 16x4.80-8 2
49 |KC90-03-07 BaxuM koJjeca 2
50 |KC30A-02-13 Inck koJiecHbmr 8" 2
51 Bosr M6x16 4
52 |KC90-02-11 Kopnyc NOIWMIHUKA 2
53 T'avixa M8 6
54 16205 HDomumnumuk 6205 2
55 |KC30A-02-14 Brynka 25x34x16 1
56 |KC30A-02-15 IndbdbepeHumnan B cbHope 1
57 |KC30A-02-16 Ban 1
58 linoHka 6x4x45 2
59 |KC30A-02-17 Brynka OpoH30Bad 1
60 |KC30A-02-18 Bunka 1
61 |KC30-02-07 XpanoBuk 1
62 |KC30-02-05 IpyxmnHa 1
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST1176LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 5




Ne ApTHUKYI HamMeHOBaHME Kon
63 |KC30-02-06A Tpocuk nubbepeHLMaa

64 |KC30A-02-19 Brynka OpoH30Bas

65 |KC30A-02-20 Ban

CHeroyb6opumk 6GeHBMHOBEI

MomeJsb

ST1176LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
27 Bonr M6x20 2
66 |KCM24-02C-18 HakxoHeuHUK 1
67 Mlarba 12 1
68 Manba 12 1
69 |KC21-02C-09 dukcaTop 1
70 BonT M8x30 1
71 |KC55-02-21 PoJMK HaTSXUTEJS 1
72 |KC21-02C-20 KpoHWTEMH HaTAXUTEJS 1
73 Bosr M8X45 1
74 |KC30A-02A-05 KpoHWTEMH HaTAXUTEJS 1
75 |KC55-01-24 Brynka 1
76 |KC55-01-27 POJIMK HaATSXUTEJI 1
77 |KC55-01-26 Manba 1
78 |KC21-02C-13 lxmB 1
79 Bonr M6x20 3
80 |KC90-02-12 Kopnyc NOIWMIHUKA 2
81 |6002 HopumnHumuk 6002 2
82 |KC90-02-15 [IpyXMHa HATAXUTEIS 1
83 |KC30A-02-23 KpOHIWTENH WKUBa 1
84 |KC30A-02-24 Brynka 13x20x20 1
85 BonT M8X16 2
86 Tavka M12 1
87 |KC21-02C-12 [IpyXMHa HATAXUTEJIA 1
88 Baknenka 4x12 2
89 |KC30A-02-25 [InacTuHa 1
90 |KC30A-02-26A Kpelllka HMXHASA 1
91 |KC30A-02-27 IJeTasnlb KpPENJIEHUI 1
92 Mrudr 1.5X25 1
93 |KC21-02C-17 IpyxnHa 1
94 |KC90-02-31 Och 1
Monmerib
CHeroyb6opumk O6eHBMHOBEM ST1176LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 7




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |KCA30-01-01 Ieka 1

2 |KC26-01-06 KpoHurenH 2

3 |KC55-25 T'avika JIaCcTUKOBAS 4

4 |KC26-01-02 [IOJI030K IJIaCTUKOBHIN 2

5 llarBa 8 4

6 Tarika M8 16
7 |KCA34-01-10 [Ios1030K MeTaJlInueCKUM

8 T'avika M8

9 |KC30-01-02 [lmacTrHa OeKu

10 BoaT M8x16

11 BonT M8x18

12 |KC42-01-05A Kprlllka IOOUMIIHMKAE

13 |SB205 HNomumnHmk SB205

14 |KC42-01-04A

Kopnyc nomumnHmMka

15 |KCA30-01-02

IlHek NOpPaBHI

16 llamnba 8
17 Barayumka
18 |KCA34-01-03 [IpoBxa

19 |KCA34-01-04

BonT cpe3HOM 8x42

20 |KCA34-01-05 PenyxTop
21 Tanika M6
22 Mlarba 6

23 |KCA34-01-06 KpeibuaTka

Bosar M6x40

Bosar M6x30

26 |KCA34-01-07R

KpoHWTENH NpPaBEM

27 |KCA34-01-07L

KpOHWTENH JIE€BHI

28 |KCA30-01-03

IHek JIeBLIM

29 llatiba 8

30 Bosr M8x20
31 Bosr M8x20
32 Bosr M8x25

BIBRININIRPRIRPIERININDIERI SIS IRERINDINDIN AR INDINDINDIRPRIOY O] N

CHeroyb6opumk 6GeHBMHOBEI

MomeJsb

ST1176LE

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 8




Ne ApTHUKYI HamMeHOBaHME Koxn
33 BuHT ST4.2x9.5-F 2
34 |KC55-01-21 IepxaTesib JIONAaTKU 1
35 |KC42-01-20 KopnycC nOIMWMUIIHUKA 2
36 |SB204 HommmnHamMk SB204 1
37 |KC42-01-22 MxuB 1
38 Mamba 10 1
39 BoanT M10x25 1
40 linoHka 6x20 1
41 |KCA34-01-09 llavBa JacTUKOBALA 2
42

43

44

45

46

MomeJsb

CHeroyb6opumk 6GeHBMHOBEI ST1176LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

| Page 9




Ne ApTHUKYI HamMeHOBaHME Kon

1 |KC42A-03-1A HednexTop 1

2 |KC55-03-17 [IpyxuHa 1

3 |KC30A-05-2 [IpyxMHa 1

4 |KC30A-05-4 Tpocuk 1

5 [2.5*150 1

6 |KC30A-05-3 Tara 1

7 |KC42A-03-2 [InacTuHa 1

8 |KC30A-05-6 lleTss 1

"" 9 |KC30A-05-7 Ochb 1

10 |GB/T12618-1990 Bakjyenka 4x10 7

11 |KC30A-05-08 lleTss 1

@ 12 |KC42A-03-3A Kosepek 1

13 |KC21-23 larnba 1

@ 14 |KC42A-03-4 PemeTka 3ammMTHAaN 1

® 15 |KC55-26 larnba 1

16 |[KCW-03 Konnauex 2
®
@
©
@
3
@
@

e Monmesnb
Cueroyb6o K OeHBMHOBHM
yoopim ST1176LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 10




